
 

 (DBC 32) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Final Year) 

Part - II : COMMERCE 

 Paper - III : Income Tax and Practical Auditing 

Time : 03 Hours  Maximum Marks : 80 

     

                                             Section - A (2 x 4 = 8) 

Answer any two of the following 

      

1) Objectives of Audit. 

 Byìþsìý…VŠü Ë„> ÅË$. 

2) Internal check. 
 A…™èþÆæÿY™èþ ™èþ°T. 

3)  Audit Report. 

 ByìþsŒý °Ðóþ¨Mæü. 

4)  Audit planning. 

 ByìþsŒý {ç³×êãMîüMæüÆæÿ×ý. 

           Section - B  (2 x 16 = 32) 

Answer any two of the following 

5) Describe the procedure involved in Auditing. 

 Byìþsìý…VŠüÌZ° M>ÆæÿÅçÜÆæÿã° ÑÐèþÇ…^èþ$Ðèþ$$. 

6) What are the rights and duties of auditor? 

 ByìþrÆŠÿ Äñý$$MæüP çßýMæü$PË$, Ñ«§æþ$Ë$ HÑ$? 

7) Distinguish between verification and valuation. 

 çÜÇ^èþ*^èþ$r, Ðèþ$*ÌêÅ…Mæü¯èþÐèþ$$ Ðèþ$«§æþÅ ™óþyéË è̄þ$ ™ðþË$ç³#Ðèþ$$. 

8) Discuss different kinds of Audit. 

 ÑÑ«§æþ ÆæÿM>Ë ByìþsŒýË¯èþ$ è̂þÇa… è̂þ$Ðèþ$$. 



 

          Section - C  (2 x 4 = 8) 

Answer any two of the following 

 
9) Assessment year. 

 ç³¯èþ$² °Æ>®Ææÿ×ý çÜ…Ðèþ™èþÞÆæÿÐèþ$$. 

10)     Resident. 

°ÐéíÜ. 

11)    Fully Exempted Income. 

 ç³NÇ¢V> ç³¯èþ$² Ñ$¯èþàÆÿ$$… è̂þºyìþ¯èþ B§éÄæý$Ðèþ$$. 

12)    Salary. 

 i™èþÐèþ$$. 

            Section - D (2 x 16 = 32) 

Answer any two of the following 

 

13)   The following is the Profit and Loss Account of a Merchant for the Year Ending 31-3-2013.  

Profit and Loss Account 
  

     E  E 

 To Office salary  6,500 By Gross profit 36,750 

 To Bad debts written off 1,700 By Commission 1,250 

 To Provision for bad debts 3,000 By Discounts 500 

 To Advertisement 3,800 By Sundry Receipts 200 

 To Fire Insurance premium 550 By Rent of Building 3,600 

      (House Property) 

 To General Expenses 2,750 By Profit on Sale  3,000 

 To Depreciation  1,200       of Investments  

 To Interest on Capital 2,000 

 To Interest on Bank Loan (due) 1,300 

 To Net profit  22,500 

     45,300 45,300 

Compute the Taxable Profit from Business. The amount of depreciation is E 1,000. Interest on 

Bank Loan was paid on 1-8-2013. Due date of filing of returns is 31-7-2013. 



 

31 Ðèþ*Ça , 2013 è̄þ A…™èþÐèþ$Äôý$Å çÜ…Ðèþ™èþÞÆ>°Mìü JMæü ÐèþÆæÿ¢Mæü$°Mìü ^ðþ…¨¯èþ Ìê¿æý è̄þÚëtË Rê™é ¨Væü$Ðèþ ±Äæý$ºyìþ¯èþ¨. 

Ìê¿æý è̄þÚëtË Rê™é 
   Ææÿ*.  Ææÿ*. 

To íÜº¾…¨ i™éË$ 6,500 By  çÜ*¦Ë Ìê¿æýÐèþ$$ 36,750 

 To Æ>° »êMîüË$  1,700 By MæüÑ$çÙ¯Œþ 1,250 

 To Æ>° »êMîüË HÆ>µr$ 3,000 By yìþÝûP…sŒý 500 

 To {ç³Mæür¯èþË$ 3,800  By ÑÑ«§æþ ÐèþçÜ*âæý$Ï 200 

 To AW² ÁÐèþ* {ï³Ñ$Äæý$… 550 By ¿æýÐèþ¯èþÐèþ$$òOò³ A§ðþª 3,600 

      (Væü–çàíÜ¢Mìü ^ðþ…¨¯èþÑ) 

 To Ýë«§éÆæÿ×ý QÆæÿ$aË$ 2,750 By ò³r$tºyæþ$Ë AÐèþ$ÃMæüÐèþ$$ 3,000 

 To ™èþÆæÿ$Væü$§æþË  1,200       òOò³ Ìê¿æýÐèþ$$  

 To Ðèþ$*Ë«§æþ¯èþ…òOò³ Ðèþyîþz  2,000 

 To »êÅ…Mæü$ º$$×ý…òòOò³ Ðèþyîþz (ºM>Æÿ$$) 1,300 

 To °MæüÆæÿ Ìê¿æýÐèþ$$  22,500 

     45,300 45,300 

ÐéÅ´ëÆæÿÐèþ$$ ¯èþ$…yìþ ç³¯èþ$²Mæü$ Væü$Ç AÄôý$Å Ìê¿ê°² ÌñýMìüP…ç³#Ðèþ$$. A è̄þ$Ðèþ$†…_ è̄þ ™èþÆæÿ$Væü$§æþË Ææÿ*. 1,000. »êÅ…Mæü$ º$$×ý…òOò³ 

Ðèþyîþz° 1-8-2013 ¯éyæþ$ ð̂þÍÏ…^èþyæþOÐðþ$¯èþ¨. °Ðóþ¨Mæü §éQË$ ó̂þÄæý$ÐèþËíÜ¯èþ BQÆæÿ$™óþ¨ 31-7-2013. 

14)  A House was completed on April 1, 2012 and following Information is available about this house. 

  
     E   

 Municipal value of the house 30,000 p.a.  

 Fair Rental value of the house 32,000 p.a   

 Actual rent                                4,000 P.M.  

 Municipal Taxes   6,000  p.a. 
   

Let out for the period 1-4-2012 to 31-12-2012 and self occupied from 1-1-2013 onwards. 

   E  

 Fire Insurance premium 3,600  

 Land Revenue  6,000   

 Interest on Loan for the period:  

a) 1-4-09 to 31-3-2012  45,000 

b) 1-4-2012 to 31-3-2013 15,000 

Compute Income from House Property for the previous year. 



 

 JMæü Væü–çßýÐèþ$$ H{í³ÌŒý 1, 2012 è̄þ °ÇÃ… è̂þºyìþ¯èþ¨. A…§æþ$Mæü$ çÜ…º…«̈ …_¯èþ ÑÐèþÆæÿÐèþ$$Ë$ ¨Væü$Ðèþ Ñ«§æþ…V> E¯é²Æÿ$$.  

       Ææÿ*.   
 Ðèþ$$°Þç³ÌŒý ÑË$Ðèþ çÜ…Ðèþ™èþÞÆ>°Mìü 30,000  

 Äæý$$Mæü¢OÐðþ$¯èþ A§ðþª ÑË$Ðèþ çÜ…Ðèþ™èþÞÆ>°Mìü 32,000   

 ÐéçÜ¢Ðèþ A§ðþª ¯ðþËMæü$   4,000  

 Ðèþ$$°Þç³ÌŒý ç³¯èþ$²Ë$ çÜ…Ðèþ™èþÞÆ>°Mìü 6,000  

 AW² ÁÐèþ* {ï³Ñ$Äæý$… 3,600  

 ¿æý*Ñ$ ÕçÜ$¢   6,000   

 º$$×ý…òOò³ Ðèþyîþz :    

a) 1-4-09 è̄þ$…yìþ  31-3-2012 ÐèþÆæÿMæü$   45,000 

b) 1-4-2012 è̄þ$…yìþ  31-3-2013 ÐèþÆæÿMæü$  15,000 

D Væü–à°² 1-4-2012 è̄þ$…yìþ 31-12-2012 ÐèþÆæÿMæü$ A§ðþªMìü_a 1-1-2013 è̄þ$…yìþ Ý÷…™èþ °ÐéçÜÐèþ$$ è̄þMæü$ Ðéyæþ$Mæü$¯é²yæþ$. Væü™èþ 

çÜ…Ðèþ™èþÞÆ>°Mìü Væü–çàíÜ¢ ¯èþ$…yìþ B§éÄæý$Ðèþ$$ ÌñýMìüP…ç³#Ðèþ$$. 

15)    State the provisions of Law relating to set off and carry forward of Losses. 

 ¯èþÚëtË Ðèþ$$§æþÆ>, Ðèþ$$…§æþ$Mæü$ ¡íÜMö° ´ùÐèþ#rMæü$ çÜ…º…«̈ …_¯èþ ^èþrt °º…«§æþ¯èþË$ ™ðþË$ç³#Ðèþ$$. 

16)    Explain the Residential status of Individual. 

 ÐèþÅMìü¢ Äñý$$MæüP °ÐéçÜ {ç³†ç³†¢° HÑ«§æþ…V> °Ææÿ~Æÿ$$Ýë¢Ææÿ$. 




